

COLLEGE OF NURSING, CHRISTIAN MEDICAL COLLEGE, VELLORE-632004 Recognized by Indian Nursing Council & Affiliated to the Tamil Nadu Dr. M. G. R Medical University, Chennai, Tamil Nadu



COLLEGE OF NURSING, CMC, VELLORE

GENERAL EQUIPMENTS LIST

s.NO.	GENERAL EQUIPMENT	AVAILABLE		
1	Xerox Machine	1		
2	Computer with Accessories	53		
3	Calculators	24		
4	Fast Copier Xerox Machine	1		
5	Laptop including Printing Facility	6		
6	Data Card	1		
7	Pentium-IV Computer/Laptop Computer with Windows 2000/Windows XP with Internet explorer/Mozilla Fireforx, Adobe Acrobat Reader, Antivirus software	8 Pentium 22 Core 2 Duo Processor 7 Atom Processor 12 Cetron		
8	Laser Printer/Inkjet Printer	4 others 11		
9	1 KVA UPS with min. of 2 hours of backup	40 KV		
10	Copier machine with min. of 90 PPM	1		
11	Broadband Internet	Internet Server 1		
12	Fax Machine	1		
13	Wireless phone such as (Tata Indicom) with Internet cable/USB wireless Internet Data Card (as alternative to Broadband Internet failure)	2 WIFI		
14	Power Generator	1		
15	Others	Scanner-4 Dot Matrix-3		



Computer Sub-Commutee CHRISTIAN MEDICAL COLLEGE, Vellore

14/12/2021

Dr. Vathsdala Sadan, DEAN COLLEGE OF NURSING, CMC

Dear Dr. Vathsdala Sadan,

UB

.: Approval of Core i3 system & MS OFFICE 2019 PL against replacement certificate C/2019/0991,

0990, 0989 & 0988 dt.21/10/2019 and AR form no.11908, 11907, 11906 & 11905

EF

: Your request C12586 dt. 18/09/2021

URPOSE

: Student & Staff related work - for GENERAL OFFICE & ADMINISTRATIVE OFFICE

UND

: TBD

Approval of Items

S.No.	Item description	No. of units	Unit Price in Rs.
	Intel Pentium Core i3 10100 -4.3 GHZ EM64T Technology (6Mb Cache), INTEL 410M Chipset Mother Board, 100/1000mbps Ethernet Card, 4 GB DDR4 RAM, 1TB SATA Hard Disk, 19.5" LED wide Color Monitor, ATX Cabinet With 350w SMPS, 107 Keys Mechanical Keyboard, Optical Mouse, win10 PRO OEM with 3 year warranty & onsite service support	4	53,800.00

S.No	Vendor
5.1.10	· chaor
1	TECHNE ONLINE SYSTEMS (P) LTD

Outside Clinical services network and user has specified configuration and vendor

Kindly obtain AC approval.

ours sincerely,

Ebinezer Sundarraj,

Chairman, Computer Committee, CMC

Note: Upgrades & compatibility will be checked by CHIPS

All computers, hardware and software have to be inspected by CHIPS maintenance engineers on installation.

This is to ensure that you have received what you have ordered and for making payments.

This approval is valid for 90 days.

Fund under the purview of GAAT and AC

Tel No.: (0416) 228 2117

Web: https://www.cmch-vellore.edu/ Ida Scudder Road, Vellore - 632004, Tamil Nadu, India

Email: chips@cmcvellore.ac.in



Computer Sub-Committee CHRISTIAN MEDICAL COLLEGE, Vellore

14/12/2021

To

Dr. Vathsala Sadan DEAN COLLEGE OF NURSING, CMC

Dear Dr. Vathsala Sadan,

SUB

: Approval of Core i3 system & MS OFFICE 2019 PL against replacement certificates C/2019/0987,

0986 dt.21/10/2019 & C/2020/445 dt.17/08/2020 and AR form no.11904, 11903 &

12776

REF

: Your request C12565 dt. 18/09/2021

PURPOSE

: Students & Staff related wok - ADMINISTRATIVE OFFICE AND GENERAL OFFICE

FUND

: TBD

Approval of Items

S.No.	Item description	No. of units	Unit Price in Rs.
	Intel Pentium Core i3 10100 -4.3 GHZ EM64T Technology (6Mb Cache), INTEL 410M Chipset Mother Board, 100/1000mbps Ethernet Card, 4 GB DDR4 RAM, 1TB SATA Hard Disk, 19.5" LED wide Color Monitor, ATX Cabinet With 350w SMPS, 107 Keys Mechanical Keyboard, Optical Mouse, win10 PRO OEM with 3 year warranty & onsite service support	5	53,800.00

S.No Vendor
TECHNE ONLINE SYSTEMS (P) LTD

Outside Clinical services network and user has specified configuration and vendor

Kindly obtain AC approval.

Yours sincerely,

Ebinezer Sundarraj,

Chairman, Computer Committee, CMC

Note: Upgrades & compatibility will be checked by CHIPS

All computers, hardware and software have to be inspected by CHIPS maintenance engineers on installation.

This is to ensure that you have received what you have ordered and for making payments.

This approval is valid for 90 days.

Fund under the purview of GAAT and AC

Tel No.: (0416) 228 2117

Web : https://www.cmch-vellore.edu/ Ida Scudder Road, Vellore - 632004, Tamil Nadu, India

Email: chips@cmcvellore.ac.in

GR

Christian Medical College Computer Sub-committee



To

17 November 2020

Dr. Vathsala Sadan Dean College of Nursing

Dear Dr. Vathsala,

SUB: APPROVAL OF HARDWARE

REF: Your request C10711 dated 30.10.2020 PURPOSE: For students and office purpose

FUND: 22C164

Approval of items:

Item	No. of	Unit cost
1 L'ITPOT a DODIN	units	Rs.
1 UTPOE 8 PORT	2	9,800.00
2 Extream AP7532 DRB	9	27,000.00
3 R[45 connector	30	12.00
4 Motorola AP300 *	3	6,000.00
5 Extension box	2	
6 Cable UTP CAT6 in mtr+pipe and laying charge	<u>Z</u>	550.00
- The street of	160	60.00

Additional GST is applicable.

Note: * Item No.4 in the approval will be provided by Techne Online Systems without any additional cost.

The Computer Committee has approved the above configuration from

Vendor: Techne Online Systems

Outside clinical services network and user has specified configuration and vendor

Kindly obtain AC approval

Yours sincerely,

Chairman, Computer Committee

For upgrades, compatibility will be checked by CHIPS

Note: All computers, hardware and software have to be inspected by CHIPS maintenance engineers on installation. This is to ensure that you have received what you have ordered, and for making payments. This approval is valid for 90 days.

ACCESS POINT REQUIREMENT OPTIONS					
OPTIONS	AP 300	AP 7532	48 PoE sw	24 PoE sw	
UG - Option - 1	0	74	2	0	
UG - Option - 2	92	EDIAO AMA	排對便0 至於網	4	
UG - Option - 3	38	36	2	0	
PG - Option - 1	0	80	2	0	
PG - Option - 2	96	SAME OF STREET	1 1 1 1 1 1 1 1 1 1	4	
PG - Option - 3	85	10	2	0	
Department - Option - 1	8	9 4 1	MARKO MARK	到第24次15英東	
Department - Option - 2	0	16	0	0	

	Estimation to provide intenet facility (through WiFi) to CON Classs rooms,				
Departmetns and UG and PG Nursing Students Hostels					
. Item	Qty	unit price in Rs.	Cost in Rs.	GST	Total Amount
Cable UTP CAT6 in mtr (16 boxes * 305 = 4880) + pipe and Laying charge	5000	60	300000	54000	354000
AP - Wifi user License - 256 user	1	685000	685000	123300	808300
RACK	5	3250	16250	2925	19175
4 UTPOE 24 PORT	9	26000	234000	42120	276120
5 Extream AP7532 DRB	9	27000	243000	43740	286740
5 RJ45 connector	420	12	5040	907.2	5947.2
7 UPS - 2.2 KVA off line	8	9000	72000	12960	84960
Motorola AP 300	196	6000	1176000	211680	1387680
Grand Total					3222922
AP 300 for UG Hostel	92				
AP 300 for PG Hostel	96				
AP 300 for CON Depts	8				
Total no of AP 300	196	Will be pro	without any -).		
3	Cable UTP CAT6 in mtr (16 boxes * 305 = 4880) + pipe and Laying charge AP - Wifi user License - 256 user RACK UTPOE 24 PORT Extream AP7532 DRB RJ45 connector UPS - 2.2 KVA off line Motorola AP 300 Grand Total AP 300 for UG Hostel AP 300 for PG Hostel AP 300 for CON Depts	Cable UTP CAT6 in mtr (16 boxes * 305 = 4880) + pipe and Laying charge 5000 AP - Wifi user License - 256 user 1 RACK 5 UTPOE 24 PORT 9 Extream AP7532 DRB 9 RJ45 connector 420 UPS - 2.2 KVA off line 8 Motorola AP 300 196 Grand Total 92 AP 300 for UG Hostel 96 AP 300 for CON Depts 8	Item	Stem	Cable UTP CAT6 in mtr (16 boxes * 305 = 4880) + pipe and Laying charge 5000 60 300000 54000 AP - Wifi user License - 256 user 1 685000 685000 123300 RACK 5 3250 16250 2925 UTPOE 24 PORT 9 26000 234000 42120 Extream AP7532 DRB 9 27000 243000 43740 RRS. Cost in RS. C

AP Requirements				
Departments	No of	No of		
	AP300	AP7532		
	required	required		
Pediatric Nursing	1	0		
Maternity Nursing	1	0		
Fundamental Nursing	2	0		
Medicine Nursing	1	0		
Surgical Nursing	1	0		
Borad Room	0	1		
Cabin	2	0		
G.F Class room - 1	0	1		
G.F Class room - 2	0	1		
G.F Class room - 3	0	1		
G.F Class room - 4	0	1		
F.F Class room - 1	0	1		
F.F Class room - 2	0	1		
F.F Class room - 3	0	1		
F.F Class room - 4	0	1		

Total